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® 314 cm? @ 628 cm? @942 cm?

@ 1256 cm? ® 1570 cm?

S
71-_E

A7159] Gl Yol MAZo A A 2] yolet &
Ytk

62.8 x 15 & Al4tstd Hyrh.

62.8 x 15 = 942(cm?)




o] o7t 5em o)A, 7} 942cm? ¢l 97159 =

D)12em @ 9em ® 8cm @ 6cm ® 4cm







11.

ol 250l 20em )1 9715 2] 24 ol7F1193.2cm

® 10cm (@)9cm ® 8cm @ 7cm

2w, o] 7]

® 6cm

7159 2ylol)
(BYo]) x24 (FHo])olnz

o2 [ et 5w
10><10><3.14><2+2><10><3.14><|:|= 1193.2
628 +62.8 x| |=1193.2

62.8 x| |=565.2

DzQ(Cm)

—~




@ 1x1x3.14x2.5 = 7.85(cm?)
@ 2x2x3.14x1=12.56(cm?)
® 2x2x3.14 x 4 = 50.24(cm?)
@ 1x1x3.14x3.5=10.99(cm?)
® 1x1x3.14x5=15.7(cm?)
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14. thee 97159 AHEAYTh AHE] Eao dol @ em A

=

7oA.
i %5500111
\
120cm
/
@O 748 cm @ 868cm
@ 1182cm @®)1496 cm

©® 78 & et

~&B ~
27150 AAEAH Gel HArztge] hzo] dol Brio]
AFo g&UT

et 7] S8 9] dole

(50x2x3.14) x4+ 120 x 2

= 1256 + 240 = 1496( cm)




15. o2 A= 9] E89] Aol 60.24 cm YU T o] AL E FHE0]7]
= 97159 2ole B em® dY71?

O

o

® 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88 cm?

(U] =)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(U] 2] 5)= 12.56 + 3.14 + 2 = 2(cm)
(

=
X2X3.14%x2+12.56%5
5.12 + 62.8 = 87.92( cm?)

Zylo]) =




